Word Problems (Story Sums) J

. Rani has 24 crayons. Her friend gives her 13 more crayons.

How many crayons does Rani have now?

Answer:

. There are 18 apples ( 6) on one tree and 12 apples on another.
How many apples are there in total?

a) 30 \'_ _'\ b) 28 \'_ _'\ c) 26 |'_ _'|

. Aarav read 25 pages on Monday and 15 pages on Tuesday.

How many pages did he read in total?

Answer: pages

. A bus (£3]) has 32 children. 16 more children get in.
How many children are on the bus now?

Answer:

. Look and solve:

0 Inone pond, there are 17 fish.

0 Inanother pond, there are 19 fish.

How many fish in both ponds?

Answer:

. Meena has X45. Her father gives her 320 more.

How much money does Meena have now?

Answer: X




—_—

7. Raju has 50 marbles. He gives 18 to his friend.
How many marbles are left with Raju?
a)28 | | b)32 | | )35 | |
8. You have 34 cupcakes. You bake 12 more.
How many cupcakes do you have in all?
Answer:
9. A shop sold 29 pencils in the morning and 41 in the evening.
How many pencils were sold in total?
Answer:
10. There are 60 chairs in the hall. 15 chairs are broken.
How many good chairs are left?
Answer:
11. Veer has 38 balloons. 27 of them fly away.
How many balloons are still with Veer?
Answer:
12. You had 48 candies. You ate 20 candies.
How many candies are left?
a)28 | | b)20 | | 18 | |
13. A farmer has 30 cows and 25 goats.

How many animals does he have in total?
Answer:

14. A box has 26 red balls and 34 green balls.

How many balls are there in all?

Answer:




